
YEK REWSNA LANOISIVORP
:edoC repaP noitseuQ LO/6102/63

:edoC yrogetaC 5102/931
:maxE scitamehtaM TSSH

:noitseuQ fo muideM hsilgnE
tseT fo etaD 6102-30-81

edocahplA A
?5102 ni drawa adipananJ fo renniw eht si gniwollof eht gnoma ohW-:1noitseuQ

yraduahC reevgaR-:A        
ioldnaM rahdaleeL-:B        

yraduahC .V.K-:C        
magunamaR .S-:D        

A-noitpO -:rewsnA tcerroC        
?5102 ni esrevinU ssiM eht sa detceles si ohW-:2noitseuQ

suriteuG anayirA-:A        
nadroG aivilO-:B        

osnolA aiP-:C        
anugiaL airaM-:D        

C-noitpO -:rewsnA tcerroC        
?5102 ni drawa nahcahtuhzE fo renniw eht si gniwollof eht gnoma ohW-:3noitseuQ

iramukahtaguS-:A        
areeM .R.K-:B        

nardnahcamaR yressuhtuP-:C        
navedusaV rooleM-:D        

C-noitpO -:rewsnA tcerroC        
?reyalp gniwollof eht fo hcihw yb now si pihsnoipmahC nemoW 5102 nepo hcnerF ehT-:4noitseuQ

smailliW suneV-:A        
smailliW anireS-:B        

pelaH ainomiS-:C        
avoparahS airaM-:D        

B-noitpO -:rewsnA tcerroC        
?)BDN( knaB tnempoleveD weN fo namriahC tsrif eht si gniwollof eht gnoma ohW-:5noitseuQ

htamaK .V.K-:A        
amrahS yahbriN-:B        

amrahS ramukhseniD-:C        
arhtimuaS tihsraH-:D        

A-noitpO -:rewsnA tcerroC        
?mret gniwollof eht gnoma hcihw ot detaler si ''worrA tcejorP'' emehcs ehT-:6noitseuQ

enicideM-:A        
tnemtrapeD latsoP-:B        

tnemtraped enohpeleT-:C        
ytilicaf erutcurtsarfnI-:D        

B-noitpO -:rewsnA tcerroC        
?eltit ''akihcusamuaB'' eht teg alareK ni porc gniwollof eht gnoma hcihw 5102 nI-:7noitseuQ

eciR ilakkoP-:A        
elppaniP malukahzaV-:B        

eciR alasakahdaG danayaW-:C        
nadokilagnahC-:D        

D-noitpO -:rewsnA tcerroC        
?lavitseF mliF lanoitanretnI alareK ni ''marokahcanravuS'' eltit eht now mlif gniwollof eht gnoma hcihw 5102 nI-:8noitseuQ

noom eht dniheb wodahS-:A        
lattO-:B        

ilaK ehtasaviD uvihzO-:C        
yrots s'lalaJ-:D        

B-noitpO -:rewsnA tcerroC        
?tenalp gniwollof eht gnoma hcihw yduts ot dehcnual si noziroH weN tfarcecapS naciremA ehT-:9noitseuQ

nooM-:A        
otulP-:B        
sraM-:C        
suneV-:D        

B-noitpO -:rewsnA tcerroC        
?hsedalgnaB dna aidnI neewteb tnemeergA yradnuoB dnaL eht ot detaler si tcA tnemdnemA lanoitutitsnoC gniwollof eht gnoma hcihW-:01noitseuQ

001-:A        
911-:B        
011-:C        
211-:D        

A-noitpO -:rewsnA tcerroC        
._________ fo elbapac si ohw eno si rehcaet tseb ehT-:11noitseuQ

tluser doog a gnivig-:A        
nrael ot stneduts eht gniripsni-:B        

emit ni cipot eht gnitelpmoc-:C        
seton gniraperp ni stneduts eht gnipleh-:D        

B-noitpO -:rewsnA tcerroC        
._________ ni detcelfer si elpicnirp 'gnioD yb gninraeL'-:21noitseuQ

msilaeR-:A        
msilaedI-:B        

msitamgarP-:C        
msilarutaN-:D        

C-noitpO -:rewsnA tcerroC        
morf sdeecorp eno ,gninosaer evitcudni nI-:31noitseuQ

lareneg ot ralucitrap-:A        
ralucitrap ot lareneg-:B        
laciripme ot lanoitar-:C        

eseht fo enon-:D        
A-noitpO -:rewsnA tcerroC        

?gnihcaet rof dia evitcejorp a si gniwollof eht fo hcihW-:41noitseuQ
ledom llitS-:A        

ledom gnikroW-:B        
strahC-:C        
sedilS-:D        

D-noitpO -:rewsnA tcerroC        
.________ si noitaulave fo metsys tnacifingis tsom ehT-:51noitseuQ

noitaulave evitamroF-:A        
noitaulave evitammuS-:B        

noitaulave evisneherpmoc dna suounitnoC-:C        
noitaulave suounitnoC-:D        
C-noitpO -:rewsnA tcerroC        

era seiduts hcraeser evitpircsed fo scitsiretcarahC-:61noitseuQ
gnitset dna noitalumrof sisehtopyh evlovni ton od yehT-:A        

snoitasilareneg ta evirra ot gninosaer evitcuded-evitcudni fo sdohtem lacigol esu yehT-:B        
gnilpmas ni noitazimodnar fo sdohtem yolpme reven yehT-:C        

yletelpmoc dna yletarucca debircsed ton era serudecorp dna selbairav ehT-:D        
B-noitpO -:rewsnA tcerroC        

ac era anemonehp devresbo ot pihsnoitaler rieht niatrecsa ot tpmetta reh ro sih ni slortnoc ro setalupinam retnemirepxe eht taht scitsiretcarahc ro snoitidnoC-:71noitseuQ .________ dell
selbairav tnednepednI-:A        

selbairav tnednepeD-:B        
selbairav gnidnuofnoC-:C        

eseht fo enoN-:D        
A-noitpO -:rewsnA tcerroC        

era ytidilav latnemirepxe fo sepyT-:81noitseuQ
ytidilav tcurtsnoc dna tnetnoC-:A        

ytidilav lacitsitatS-:B        
ytidilav lanretnI-:C        

ytidilav tcurtsnoc dna ytidilav lacitsitats ,ytidilav lanretxe ,ytidilav lanretnI-:D        
D-noitpO -:rewsnA tcerroC        

.________ no sesucof hcraeser evitatilauQ-:91noitseuQ
ylno weivretni htped-nI-:A        

ylno snoitavresbO-:B        
snoitavresbo dna weivretni htped-ni ,sisylana tnemucoD-:C        

ylno sisylana tnemucoD-:D        
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C-noitpO -:rewsnA tcerroC        
._________ si dohtem gnilpmas desab ytilibaborP-:02noitseuQ

gnilpmas deifitartS-:A        
gnilpmas evisopruP-:B        

gnilpmas modnaR-:C        
gnilpmas tnemegduJ-:D        

A-noitpO -:rewsnA tcerroC        
si 'esaC esruP yvirP' sa nwonk esac ehT-:12noitseuQ

aidnI fo noinU .v repooC .C.R-:A        
anayraH .v vadaY ramuK kohsA-:B        
htaN ardnepirN .v lagneB tseW-:C        

IoU .v aidnicS oaR vahdaM-:D        
D-noitpO -:rewsnA tcerroC        

?lanoitutitsnocnu sa muduJ awlaS eralced truoC emerpuS eht did sesac gniwollof eht fo hcihw nI-:22noitseuQ
ullihcaZ .v naholloH otohiK-:A        
dnahkrahJ .v hgniS patarP-:B        

hragsittahC .v radnuS inidnaN-:C        
P.U fo etatS .v narooP-:D        
C-noitpO -:rewsnA tcerroC        

demeed eb lliw noitarepo lairotirret-artxe gnivah dna tnemailraP eht yb edam wal oN-:32noitseuQ
dilavni-:A        

diov-:B        
lanoitutitsnoc-:C        

dilav-:D        
A-noitpO -:rewsnA tcerroC        

si aidnI fo tnemnrevoG eht yb eetnaraug a fo gnivig htiw gnilaed noisivorp ylno sniatnoc hcihw lliB evitalsigel A-:42noitseuQ
lliB laicnaniF-:A        

liB yenoM a-:B        
lliB yranidrO-:C        

evoba eht fo llA-:D        
B-noitpO -:rewsnA tcerroC        

uoH eht fo srebmem latot eht fo tnecrep __________ deecxe ton eb dluohs sretsiniM fo licnuoC eht ni retsiniM emirP eht gnidulcni sretsiniM fo rebmun latot ehT-:52noitseuQ .elpoeP eht fo es
51-:A        
02-:B        
01-:C        

evoba eht fo enoN-:D        
A-noitpO -:rewsnA tcerroC        

A ecneloiV citsemoD morf nemoW fo noitcetorP eht rednu deussi redro noitcetorp a setaloiv ohw tnednopser eht no desopmi eb nac taht enif fo tnuoma mumixam ehT-:62noitseuQ si tc
seepuR dnasuohT neT-:A        
seepuR dnasuohT ytfiF-:B        

seepuR dnasuohT ytnewT-:C        
eseht fo enoN-:D        

C-noitpO -:rewsnA tcerroC        
rednu deifiton era skraP lanoitaN-:72noitseuQ

tcA stseroF naidnI-:A        
tcA noitavresnoC tseroF-:B        

tcA noitcetorP tnemnorivnE-:C        
tcA noitcetorP efiL dliW-:D        

D-noitpO -:rewsnA tcerroC        
si nagro namuh fo ronod a fo ega muminim ehT-:82noitseuQ

sraey 02-:A        
sraey 81-:B        
sraey 12-:C        
sraey 52-:D        

B-noitpO -:rewsnA tcerroC        
ot ssalc tsrif morf noitacude snaem 'noitacude yratnemele' ,tcA noitacudE ot thgiR eht rednU-:92noitseuQ

ssalc htruof-:A        
ssalc htneves-:B        

ssalc htfif-:C        
ssalc hthgie-:D        

D-noitpO -:rewsnA tcerroC        
etats eht fo tseretni cimonoce eht gninrecnoc tnedicni na no noitamrofni na fo erusolcsid ,tcA noitamrofnI ot thgiR eht rednU-:03noitseuQ

detpmexe lla ta ton si-:A        
tnedicni eht retfa raey 51 edam nac-:B        

tnedicni eht retfa sraey 02 desaeler eb nac tub erusolcsid morf detpmexe yllamron si-:C        
tnedicni eht retfa sraey 51 desaeler eb nac tub erusolcsid morf detpmexe yllamron si-:D        

C-noitpO -:rewsnA tcerroC        
si m 09 si edutitla gnidnopserroc esohw elgnairt eht fo edis ehT .m 06 serusaem edis esohw erauqs a fo taht ot lauqe si elgnairt a fo aera ehT-:13noitseuQ

m 06-:A        
m 04-:B        
m 08-:C        
m 09-:D        

C-noitpO -:rewsnA tcerroC        
htgnel fo si cra eht fo drohc ehT .mc 5.21 si retemaid sti dna mc 01 si elcric a fo cra na fo thgieh ehT-:23noitseuQ

mc 01-:A        
mc 21-:B        

mc 8-:C        
mc 11-:D        

A-noitpO -:rewsnA tcerroC        
si erehps rellams eht fo ssam ehT .g 061 ssam dna mc 8 suidar fo erehps suoenegomoh a morf devrac si mc 4 suidar fo erehps A-:33noitseuQ

g 08-:A        
g 06-:B        
g 04-:C        
g 02-:D        

D-noitpO -:rewsnA tcerroC        

 esU( si muludnep eht fo htgnel ehT .htgnel ni mc 8.8 cra na sebircsed dna °03 fo elgna na hguorht sgniws muludnep A-:43noitseuQ Π =
22

7
mc 8.8-:A        

mc 8.61-:B        
mc 4.21-:C        
mc 2 .01-:D        

B-noitpO -:rewsnA tcerroC        
si sdiobuc eht fo eno fo taht ot ebuc nevig eht fo aera ecafrus latot eht fo oitar ehT .semulov lauqe fo sdiobuc owt otni tuc si ebuc dilos A-:53noitseuQ

1 : 2-:A        
2 : 3-:B        
1 : 4-:C        
3 : 4-:D        

B-noitpO -:rewsnA tcerroC        

 fo eulav eht si tahW-:63noitseuQ
1

5 + 1

5 + 1
5+ ...

?

-:A        
−5 + 92√

2

-:B        
−5 − 92√

2

-:C        
−5 ± 92√

2
7-:D        

A-noitpO -:rewsnA tcerroC        
-:73noitseuQ 2 0000001 si 7 dom  

5-:A        
3-:B        
2-:C        
4-:D        

C-noitpO -:rewsnA tcerroC        
 nehW-:83noitseuQ 𝑥5 + 𝑥4 + 5𝑥2 − 3  yb dedivid si 𝑥 + 2, si redniamer eht 

0-:A        
1-:B        
2-:C        
3-:D        

B-noitpO -:rewsnA tcerroC        
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.segde __________ sah secitrev 7 htiw eert A-:93noitseuQ
8-:A        
7-:B        
5-:C        
6-:D        

D-noitpO -:rewsnA tcerroC        
 fo seert gninnaps tcnitsid fo rebmun ehT-:04noitseuQ 𝐾4 si 

61-:A        
21-:B        
23-:C        

8-:D        
A-noitpO -:rewsnA tcerroC        

 tnemele ytitnedi eht fI-:14noitseuQ 𝑒 � 𝑆   ,S( puorgimes a ni stsixe � a si ti neht ,) 
puorG-:A        

diopuorG-:B        
dionoM-:C        

evoba eht fo enoN-:D        
C-noitpO -:rewsnA tcerroC        

  fo srotareneg fo rebmun ehT-:24noitseuQ (𝑍 42 , + ) si 
2-:A        
6-:B        
8-:C        
01-:D        

C-noitpO -:rewsnA tcerroC        
redro sah 21 redro fo puorg a fo puorgbus-3 wolyS A-:34noitseuQ

2-:A        
3-:B        
1-:C        
21-:D        

B-noitpO -:rewsnA tcerroC        
 redisnoC-:44noitseuQ 𝑍5  dna  𝑍 02  φ msihpromomoh fo rebmun eht nehT .ylevitcepser 02 dna 5 oludom sgnir sa   :𝑍5 → 𝑍 02 si 

1-:A        
4-:B        
5-:C        
2-:D        

D-noitpO -:rewsnA tcerroC        
 teL-:54noitseuQ 𝑄   dna srebmun lanoitar fo dleif eht eb 𝑍2  laimonylop eht nehT .2 oludom dleif a si  𝑓(𝑥) = 𝑥3 − 9𝑥2 + 9𝑥 + 3 si  

 revo elbicuderri-:A        𝑄  revo elbicuder tub  𝑍2
  htob revo elbicuderri-:B        𝑄  dna  𝑍2

  revo elbicuder-:C        𝑄  revo elbicuderri tub   𝑍2
 htob revo elbicuder-:D        𝑄 dna 𝑍2

A-noitpO -:rewsnA tcerroC        

 teL-:64noitseuQ 𝐴 = �
3 1 −1
2 2 −1
2 2 0

�  fo laimonylop citsiretcarahc ehT   . 𝐴 si  

-:A        𝑥3 + 5𝑥2 + 8𝑥 + 4

-:B        𝑥2 + 5𝑥

-:C        𝑥3 − 5𝑥2 + 8𝑥 − 4

-:D        𝑥3 + 8𝑥 + 4
C-noitpO -:rewsnA tcerroC        

   xirtam eht fo seulav negie ehT-:74noitseuQ �
4 −2

−2 1
� era   

4 ,1-:A        
2 ,1--:B        

5 ,0-:C        
denimreted eb tonnaC-:D        
C-noitpO -:rewsnA tcerroC        

 teL-:84noitseuQ 𝑉  ,ecaps rotcev lanoisnemid etinif a eb  𝐼  no noitamrofsnart ytitnedi eht eb  𝑉   fo ecaps llun eht neht , 𝐼 si 
-:A        {0}
-:B        𝜑
-:C        𝑉

evoba eht fo enoN-:D        
A-noitpO -:rewsnA tcerroC        

 fI-:94noitseuQ 𝑉  mid htiw ecaps rotcev a si  𝑉 = 𝑛  fo ecapsrepyh eht fo noisnemid eht neht , 𝑉 si  
-:A        𝑛
-:B        𝑛 − 1
-:C        𝑛 + 1
0-:D        

B-noitpO -:rewsnA tcerroC        

 teL-:05noitseuQ 𝑉  revo secirtam 2 × 2 lla fo ecaps rotcev a eb  𝑅  teL . 𝑇  gnippam raenil eht eb  𝑇 :𝑉 → 𝑉  taht hcus 𝑇(𝐴) = 𝐴𝐵 − 𝐵𝐴  erehw  𝐵 = �
2 1

0 3
�  fo ytillun eht nehT . 𝑇 si  

1-:A        
2-:B        
3-:C        
4-:D        

A-noitpO -:rewsnA tcerroC        
a si ecaps hcanaB-:15noitseuQ

ecaps rotcev demron etelpmoC-:A        
ecaps rotcev demroN-:B        

ecaps rotcev etelpmoC-:C        
evoba eht fo enoN-:D        

A-noitpO -:rewsnA tcerroC        
?eurt si gniwollof eht fo hcihW-:25noitseuQ

secaps tcudorp renni era secaps demron llA-:A        
secaps demron era secaps tcudorp renni llA-:B        
secaps hcanaB era secaps tcudorp renni llA-:C        

secaps trebliH era secaps tcudorp renni llA-:D        
B-noitpO -:rewsnA tcerroC        

fi ecaps trebliH a si ecaps hcanaB-:35noitseuQ
sdloh meroeht naerogahtyP-:A        

sdloh meroeht noitcejorP-:B        
sdloh wal margolellaraP-:C        

evoba eht fo enoN-:D        
C-noitpO -:rewsnA tcerroC        

 fI-:45noitseuQ 𝑇  ecaps trebliH a no rotarepo raenil dednuob a si  𝐻 ?eurt ton si gniwollof eht fo hcihw ,
-:A        𝑇  fi  lamron si  𝑇 tniojda-fles si  
-:B        𝑇  fi lamron si  𝑇 yratinu si  
-:C        𝑇  fi tniojda-fles si  𝑇 lamron si  

evoba eht fo enoN-:D        
C-noitpO -:rewsnA tcerroC        

 tniop eht ta lamron eht fo noitauqe ehT-:55noitseuQ (𝑎 ces Θ , 𝑏 nat Θ )  alobrepyh eht no  
𝑥2

𝑎2 −
𝑦2

𝑏2 = 1 si 

-:A        
𝑥
𝑎

ces Θ −
𝑦
𝑏

nat Θ = 1

-:B        
𝑥
𝑎 ces Θ +

𝑦
𝑏 nat Θ = 1

-:C        
𝑎𝑥
ces Θ −

𝑏𝑦
nat Θ = 𝑎2 + 𝑏2

-:D        
𝑎𝑥
ces Θ +

𝑏𝑦
nat Θ = 𝑎2 + 𝑏2

D-noitpO -:rewsnA tcerroC        

-:65noitseuQ mil
𝑥→ ∞

gol 𝑥
𝑥𝑛

si  

-:A        ∞
-:B        − ∞
1-:C        
0-:D        
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D-noitpO -:rewsnA tcerroC        
-:75noitseuQ (𝑥 �𝑦) + (𝑥′ + 𝑦′ ) ot lauqe si  

-:A        𝑥 �𝑦
-:B        𝑥′ + 𝑦′
0-:C        
1-:D        

D-noitpO -:rewsnA tcerroC        
 teL-:85noitseuQ 𝑎  arbegla naelooB a ni tnemele yna eb 𝐵  fI . 𝑎 + 𝑥 = 1  dna  𝑎𝑥 = 0 neht , 

-:A        𝑥 = 1
-:B        𝑥 = 0
-:C        𝑥 = 𝑎
-:D        𝑥 = 𝑎′

D-noitpO -:rewsnA tcerroC        
?evixelfer si gniwollof eht fo hcihW-:95noitseuQ

-:A        𝑙2

-:B        𝑙1

-:C        𝐿1[𝑎, 𝑏]
-:D        𝑙∞

A-noitpO -:rewsnA tcerroC        
 fI-:06noitseuQ 1 < 𝑝 < ∞  dna  𝑞  fo etagujnoc si  𝑝 neht , 

-:A        𝑙𝑝′ = 𝑙𝑞

-:B        𝑙𝑝′ = 𝑙𝑝

-:C        𝑙𝑝′ < 𝑙𝑞

-:D        𝑙𝑝′ > 𝑙𝑞

A-noitpO -:rewsnA tcerroC        
fI-:16noitseuQ 𝑆 neht ,srebmun laer fo tes ytpme-non a si  

 fnI-:A        𝑆  puS =  𝑆
 fnI-:B        𝑆  puS- =  ( − 𝑆)
  fnI-:C        𝑆  puS =  ( − 𝑆)

 fnI-:D        𝑆  puS- =  𝑆
B-noitpO -:rewsnA tcerroC        

sah tes etinifni yrevE-:26noitseuQ
tesbus elbatnuocnu na-:A        

tesbus elbatnuoc a-:B        
stesbus elbatnuocnu dna elbatnuoc htob-:C        

evoba eht fo enon-:D        
B-noitpO -:rewsnA tcerroC        

 noitcnuf deulav laer A-:36noitseuQ 𝑓  ta dnik dnoces eht fo ytiunitnocsid sah  𝑥 = 𝑎 fi 
-:A        𝑓(𝑎 + ) ylno tsixe  
-:B        𝑓(𝑎 − ) ylno tsixe  

 rehtieN-:C        𝑓(𝑎 + )  ron  𝑓(𝑎 − ) tsixe  
 htoB-:D        𝑓(𝑎 + )  dna  𝑓(𝑎 − ) tsixe  

C-noitpO -:rewsnA tcerroC        

 ecneuqes eht roF-:46noitseuQ {𝑥𝑛}  erehw , 𝑥𝑛 = ( − 1)𝑛𝑛    eht , mil ���� 𝑥𝑛 si  
1-:A        
0-:B        

-:C        + ∞
-:D        − ∞

D-noitpO -:rewsnA tcerroC        
fo noinu eht si srebmun laer fo tes nepo yrevE-:56noitseuQ

slavretni desolc tniojsid fo noitcelloc elbatnuoc-:A        
slavretni desolc tniojsid fo noitcelloc elbatnuocnu-:B        

slavretni nepo tniojsid fo noitcelloc elbatnuoc-:C        
slavretni nepo tniojsid fo noitcelloc elbatnuocnu-:D        

C-noitpO -:rewsnA tcerroC        
 tes A-:66noitseuQ 𝐸 fi esned erehwon si  
 fo erusolc-:A        𝐸 stes nepo ytpme-non sniatnoc  
 fo erusolc-:B        𝐸 stes nepo ytpme-non on sniatnoc  
 fo erusolc-:C        𝐸 tes nepo ytpme sniatnoc  

evoba eht fo enon-:D        
B-noitpO -:rewsnA tcerroC        

 fI-:76noitseuQ 𝑓1  dna  𝑓2  no denifed snoitcnuf dednuob deulav-laer owt era  [𝑎, 𝑏]  noititrap yreve rof neht 𝑃  no [𝑎, 𝑏]
-:A        𝑈�𝑃, 𝑓1 + 𝑓2� = 𝑈�𝑃, 𝑓1� + 𝑈�𝑃, 𝑓2�

-:B        𝑈�𝑃, 𝑓1 + 𝑓2� ≤ 𝑈�𝑃, 𝑓1� + 𝑈�𝑃, 𝑓2�

-:C        𝑈�𝑃, 𝑓1 + 𝑓2� ≥ 𝑈�𝑃, 𝑓1� + 𝑈�𝑃, 𝑓2�

evoba eht fo enoN-:D        
B-noitpO -:rewsnA tcerroC        

 fI-:86noitseuQ 𝑓 :[𝑎, 𝑏] → 𝑅 neht noitcnuf cinotonom dna suounitnoc si 
-:A        𝑓  no elbargetni nnameiR si  [𝑎, 𝑏]
-:B        𝑓  no elbargetni nnameiR ton si  [𝑎, 𝑏]
-:C        𝑓  no elbargetni nnameiR si 𝑅

evoba eht fo enoN-:D        
A-noitpO -:rewsnA tcerroC        

?eurt si gniwollof eht fo hcihW-:96noitseuQ
 tes ehT-:A        [0, 1] elbatnuoc ton si  

 fI-:B        𝐸1  dna  𝐸2  neht ,elbarusaem eugsebeL era  𝐸1 � 𝐸2 elbarusaem eugsebeL si 
 ylimaf ehT-:C        𝑀 stes fo arbegla na si stes elbarusaem eugsebeL fo  

evoba eht fo llA-:D        
D-noitpO -:rewsnA tcerroC        

 neviG-:07noitseuQ �
0

1 nis � 1
𝑥�

𝑥√
𝑑𝑥 neht , 

tnegrevid si largetnI-:A        
tnegrevnoc yletulosba si largetnI-:B        

tnegrevnoc yletulosba ton si largetnI-:C        
evoba eht fo enoN-:D        

B-noitpO -:rewsnA tcerroC        
 fI-:17noitseuQ 𝑓   fi dna meroeht eulav naem s'egnargaL fo snoitidnoc eht seifsitas  𝑓′ (𝑥) = 0�𝑥 � [𝑎, 𝑏] ?eurt si gniwollof eht fo hcihw neht , 

-:A        𝑓  no tnatsnoc si  [𝑎, 𝑏]
-:B        𝑓  ni gnisaercni yltcirts si  [𝑎, 𝑏]
-:C        𝑓  ni gnisaerced yltcirts si  [𝑎, 𝑏]

evoba eht fo enoN-:D        
A-noitpO -:rewsnA tcerroC        

-:27noitseuQ mil
𝑧→ 0

𝑧
𝑧

si  

0-:A        
1-:B        

-:C        
1
2

tsixe ton seoD-:D        
D-noitpO -:rewsnA tcerroC        

  seires rewop eht fo ecnegrevnoc fo suidar ehT-:37noitseuQ �
𝑛= 0

∞ 2𝑛!

(𝑛!)2 (2 − 3𝑖)𝑛 si 

1-:A        
0-:B        

-:C        
1
2

-:D        
1
4

D-noitpO -:rewsnA tcerroC        
fi cinomrah eb ot dias si noitcnuf A-:47noitseuQ

-:A        
∂2𝑢
∂𝑥2 +

∂2𝑣
∂𝑥2 = 0

-:B        
∂2𝑢
∂𝑥2 +

∂2𝑢
∂𝑦2 = 0
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-:C        
∂𝑢
∂𝑥 +

∂𝑢
∂𝑦 = 0

-:D        
∂𝑣
∂𝑥 +

∂𝑣
∂𝑦 = 0

B-noitpO -:rewsnA tcerroC        

  fo eulav ehT-:57noitseuQ �
𝑐

gol 𝑧𝑑𝑧  erehw  𝑐 si elcric tinu eht si 

-:A        Π 𝑖
-:B        2 Π 𝑖
-:C        4 Π 𝑖
0-:D        

B-noitpO -:rewsnA tcerroC        
 elcric tinu eht fo egami ehT-:67noitseuQ |𝑧| = 1  noitamrofsnart eht rednu  𝑤 = 2𝑧 + 𝑧2 si 

elcriC-:A        
enil thgiartS-:B        

alobaraP-:C        
dioidraC-:D        

D-noitpO -:rewsnA tcerroC        
 fI-:77noitseuQ 𝑋  ,tes yna si 𝑇  fo stesbus lla fo noitcelloc a si 𝑋  neht (𝑋, 𝑇) si 

ygolopot etercsiD-:A        
ygolopot etercsidnI-:B        

ygolopot laivirT-:C        
evoba eht fo enoN-:D        

A-noitpO -:rewsnA tcerroC        
 teL-:87noitseuQ 𝑋  dna 𝑌  noitcnuf ehT .secaps lacigolopot era 𝑓 fi msihpromoemoh a si 

-:A        𝑓 :𝑋 → 𝑌 noitcnuf evitcejib a si  
-:B        𝑓 suounitnoc si 

-:C        𝑓−1:𝑌 → 𝑋 suounitnoc si 
evoba eht fo llA-:D        

D-noitpO -:rewsnA tcerroC        
si ecaps ffrodsuaH a fo tesbus tcapmoc yrevE-:97noitseuQ

tes desolC-:A        
tes nepO-:B        

tes lluN-:C        
evoba eht fo enoN-:D        

A-noitpO -:rewsnA tcerroC        

 noitauqe laitnereffid eht fo eerged dna redro ehT-:08noitseuQ
𝑑
𝑑𝑥

�
𝑑2𝑦
𝑑𝑥2�

4

= 0 si 

4 ,1-:A        
4 ,2-:B        
1 ,3-:C        
4 ,3-:D        

C-noitpO -:rewsnA tcerroC        
 naiksnorW fo eulav ehT-:18noitseuQ 𝑊�𝑥, 𝑥2, 𝑥3� si  

-:A        2𝑥2

-:B        2𝑥4

-:C        2𝑥3

-:D        𝑥2

C-noitpO -:rewsnA tcerroC        

 fo noitulos lareneg ehT-:28noitseuQ
∂2𝑢
∂𝑥2 +

∂2𝑢
∂𝑦2 = 0 mrof eht fo si  

-:A        𝑢 = 𝑓(𝑥 + 𝑖𝑦) − 𝑔(𝑥 − 𝑖𝑦)
-:B        𝑢 = 𝑓(𝑥 − 𝑖𝑦) − 𝑔(𝑥 − 𝑖𝑦)
-:C        𝑢 = 𝑓(𝑥 + 𝑖𝑦) + 𝑔(𝑥 − 𝑖𝑦)
-:D        𝑢 = 𝑓(𝑥 − 𝑖𝑦) + 𝑔(𝑥 + 𝑖𝑦)

C-noitpO -:rewsnA tcerroC        

 morf noitcnuf yrartibra eht gnitanimile yb demrof noitauqe laitnereffid laitrap ehT-:38noitseuQ 𝑧 = 𝑓�
𝑦
𝑥� si  

-:A        𝑥
∂𝑧
∂𝑥 +

∂𝑧
∂𝑦 = 0

-:B        
∂𝑧
∂𝑥 +

∂𝑧
∂𝑦 = 0

-:C        
∂𝑧
∂𝑥 + 𝑦

∂𝑧
∂𝑦 = 0

-:D        𝑥
∂𝑧
∂𝑥 + 𝑦

∂𝑧
∂𝑦 = 0

D-noitpO -:rewsnA tcerroC        
 sevruc fo ylimaf eht fo yrotcejart lanogohtro ehT-:48noitseuQ 𝑥2 − 𝑦2 = 𝑘 yb nevig si  

-:A        𝑥2 + 𝑦2 = 𝑐
-:B        𝑥𝑦 = 𝑐
-:C        𝑦 = 𝑐
-:D        𝑥 = 0

B-noitpO -:rewsnA tcerroC        

 noitauqe evaw eht fo noitulos lareneg ehT-:58noitseuQ
∂2𝑦
∂𝑡2 = 𝑐2 ∂2𝑦

∂𝑥2 si    

-:A        𝑦(𝑥, 𝑡) = Φ (𝑥 + 𝑐𝑡) + 𝜓(𝑥 − 𝑐𝑡)
-:B        𝑦(𝑥, 𝑡) = 𝑓(𝑥 + 𝑐𝑡)
-:C        𝑦(𝑥, 𝑡) = 𝑓(𝑥 − 𝑐𝑡)

stsixe noitulos lareneg oN-:D        
A-noitpO -:rewsnA tcerroC        

.ealumrof drawkcab dna drawrof 'ssuaG fo ___________ eht si alumrof s'gnilritS-:68noitseuQ
naem citemhtirA-:A        
naem cirtemoeG-:B        

naem cinomraH-:C        
evoba eht fo enoN-:D        

A-noitpO -:rewsnA tcerroC        
   seulav lanoitcnuf eht sdnopserroc hcihw eerged tsehgih eht fo laimonylop gnitalopretni ehT-:78noitseuQ 𝑓( − 1) = 9, 𝑓(0) = 5, 𝑓(2) = 3, 𝑓(5) = 51 si   

-:A        𝑥3 + 𝑥2 + 2𝑥 + 5

-:B        𝑥2 − 3𝑥 + 5

-:C        𝑥4 + 4𝑥3 + 5𝑥2 + 5
-:D        𝑥 + 5

B-noitpO -:rewsnA tcerroC        

 noitauqe largetni eht fo noitulos ehT-:88noitseuQ Φ (𝑥) = 𝑥 +�
0

𝑥

( Ξ − 𝑥) Φ ( Ξ )𝑑 Ξ si  

-:A        soc 𝑥
-:B        nat 𝑥
-:C        nis 𝑥
-:D        ces 𝑥

C-noitpO -:rewsnA tcerroC        
dellac noitauqe laitnereffid a yfsitas tsum evruc gniziminim ehT-:98noitseuQ

noitauqe s'egnargaL-:A        
noitauqe egnargaL-reluE-:B        

noitauqe ssuaG-:C        
evoba eht fo enoN-:D        

B-noitpO -:rewsnA tcerroC        
fo esac eht ni si emulov mumixam sah ,aera ecafrus nevig a rof ,noitulover fo erugif dilos A-:09noitseuQ

elcric a-:A        
erehps a-:B        
espille na-:C        
alobarap a-:D        

B-noitpO -:rewsnA tcerroC        
modeerf fo eerged sah dexif tniop eno htiw ecaps ni gnivom ydob digir A-:19noitseuQ

3-:A        
1-:B        
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6-:C        
9-:D        

A-noitpO -:rewsnA tcerroC        
 diolcyc eht gnola ,dleif lanoitativarg rednu gnivom si ssam tinu fo elcitrap A-:29noitseuQ 𝑥 = 𝜑 − nis 𝜑, 𝑦 = 1 + soc 𝜑 si noitom rof naignargaL eht nehT . 

-:A        𝜑2(1 + soc 𝜑) − 𝑔(1 − soc 𝜑)
-:B        𝜑2(1 − soc 𝜑) + 𝑔(1 + soc 𝜑)
-:C        𝜑2(1 − soc 𝜑) − 𝑔(1 + soc 𝜑)
-:D        2𝜑2(1 − soc 𝜑) − 𝑔(1 + soc 𝜑)

C-noitpO -:rewsnA tcerroC        

-:39noitseuQ 𝐿−1�
1

𝑠�𝑠2 + 𝑎2�
� si   

-:A        
1
𝑎2 (1 − soc 𝑎𝑡)

-:B        
2 nis �𝑡

𝑡

-:C        
1
𝑎2 �𝑒

𝑎𝑡 − 1�

-:D        
1
𝑎2 nis �𝑎𝑡

A-noitpO -:rewsnA tcerroC        

-:49noitseuQ �
0

∞

𝑒−𝑥2
𝑑𝑥 si 

-:A        
1
2

-:B        
𝜋
2

-:C        
𝜋√
2

-:D        − 𝜋�
C-noitpO -:rewsnA tcerroC        

  gnitneserper ,seires reiruoF gnisU-:59noitseuQ 𝑥  lavretni eht ni [ − 𝜋, 𝜋]   seires eht fo mus eht , 1 −
1
3 +

1
5 −

1
7 + ... si  

0-:A        
1-:B        

-:C        
𝜋
2

-:D        
𝜋
4

D-noitpO -:rewsnA tcerroC        
si mronoc-t tnetopmedi ylno ehT-:69noitseuQ

mus ciarbegla-:A        
noinu citsard-:B        

noinu yzzuf dradnats-:C        
mus dednuob-:D        

C-noitpO -:rewsnA tcerroC        
si ]2,1[/]01,4[ slavretni no snoitarepo citemhtira yzzuf gnisU-:79noitseuQ

]5,4[-:A        
]01,2[-:B        

]8,2[-:C        
]02,4[-:D        

B-noitpO -:rewsnA tcerroC        
  rammarg eht yb detareneg egaugnal ehT-:89noitseuQ 𝐺 = ({𝑆}, {𝑎, 𝑏}, 𝑆, 𝑃)   erehw  𝑃   si yb nevig si 𝑆 → 𝑎𝑆𝑏, 𝑆 → 𝜆 si    

-:A        {𝑎𝑛𝑏𝑛:𝑛 ≥ 0}
-:B        �𝑎𝑛𝑏𝑛+1:𝑛 ≥ 0�

-:C        �𝑎𝑛+ 1𝑏𝑛:𝑛 ≥ 0�

-:D        �𝑎𝑛+ 2𝑏𝑛:𝑛 ≥ 1�

A-noitpO -:rewsnA tcerroC        
 dleif rotcev htooms a fo evitavired eht ni eurt ton si gniwollof eht fo hcihW-:99noitseuQ 𝑋?

-:A        �𝑣 (𝑋 + 𝑌) = �𝑣 𝑋 + �𝑣 𝑌
-:B        �𝑣 (𝑓𝑋) = (�𝑣 𝑓)𝑋(𝑝) + 𝑓(𝑝)(�𝑣 𝑋)
-:C        �𝑣 (𝑋 �𝑌) = (�𝑣 𝑋) �𝑌(𝑝) + 𝑋(𝑝) �(�𝑣 𝑌)
-:D        �𝑣 (𝑓𝑋) = 𝑓(�𝑣 𝑋)

D-noitpO -:rewsnA tcerroC        
 teL-:001noitseuQ 𝑋  fo tniop yreve fI .ecaps ffrodsuaH tcapmoc ytpme-non a eb   𝑋   fo tniop timil a si 𝑋 neht ,

-:A        𝑋 tniojsid si 
 -:B        𝑋 elbatnuoc si 

-:C        𝑋 elbatnuocnu si 
evoba eht fo enoN-:D        

C-noitpO -:rewsnA tcerroC        
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